259

2-M12 Depth25
4-$13

Bal
3

61205

275 (L)

114

©
q] 3 | = =]
\@ €
] (E} ML
N 2-Re1/4
118
No Description Qty| Material and Remark No Description Qty| Material and Remark

1 | Base Plate 1 | Steel 10 | Air Cylinder 1 | SMC (¢ 40)
2 | Cylinder Support 2 | Steel 11 | Hexagon Nut 1 | M20x15
3 | Gauge Bracket Support | 1 | Steel 12 | Cotter pin 4 | 3x18
4 | Gauge Bracket 1 | Steel 183 | Hexagon Socket Head Bolt | 4 | M12x40
5 |Joint 1 | Steel 14 | Hexagon Socket Head Bolt| 1 | M10x35
6 | Joint Pin 2 | Steel 15 | Washer 4 | ¢12
7 | Turning Lock Plate 1 | Steel 16 | Hexagonal Socket Head Screw | 1 | M4x6
8 | Bushing 2 [LBM

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

KRGK

I!I ‘Catalog No. H L ‘
KRGK 275

Order

0

Example

275

1

The Gauge (Fig.(D) are not accompanied.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

260






